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QUESTION 1

What does an administrator with unrestricted policy administrative privilege have the authority to manage?
A. Nodes

B. Storage

C. Devices

D. The enterprise

Correct Answer: B

QUESTION 2

An IBM Tivoli Storage Manager V7.1 storage pool has been defined as:

DEFINE STGPOOL FILEPOOL FILEDEV POOLTYPE=PRIMARY HI=90 LO=80 MIGDELAY=7
MIGCONTINUE=YES NEXT=TAPEPOOL

A QUERY STGPOOL command reports the FILEPOOL storage pool\\'s utilization is now 88%, and no
migration process is running.

What is the result of running this command: MIGRATE STGPOOL FILEPOOL?

A. No migration is triggered because the pool\\'s utilization is below the high threshold.

B. Migration will move data to the TAPEPOOL until the FILEPOOL\\'s utilization is below 80%.

C. A syntax error is returned because the command did not specify a low migration threshold.

D. Only objects having been in the pool more than seven days are migrated until the pool\\'s utilization falls below 80%
or there are no more objects to process.

Correct Answer: B

QUESTION 3

What happens to an archived file that is no longer associated with an archive copy group?
A. The file is marked for deletion.

B. The file is marked for expiration.

C. The file will be rebound to the grace period defined in the policy domain.

D. The file will be rebound to the longest archive retention period available in the default management
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class.

Correct Answer: C

QUESTION 4

Which privilege class is required to register another IBM Tivoli Storage Manager administrator?
A. system

B. operator

C. sysadmin

D. unrestricted policy

Correct Answer: A

QUESTION 5

Which device information is represented by the alias name mt5?
A. A tape drive on LUN 5

B. A tape drive on SCSI ID 5

C. A tape library with 5 drives

D. The fifth tape in an automated library

Correct Answer: B
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